ODVOD VSOTE:
(f+g)'(x)=flx)+ g'(x)
ODVOD RAZLIKE:
F—g)'=Fflx)-g'(x
ODVOD PRODUKTA:
(F x g)'(x) = f'{x) x g(x) + flx) x g'(x)
ODVOD KOLIENIKA:
Yy P xgl) — ) xg'(x)
RSk .
g g*(x)
ODVOD PRODUKTA KONSTANTE IN FUNKCIJE:
(B xf)'(x) =k x f(x)
ODVOD SESTAVLJENE FUNKCLJE
flg0) =r'(g))x g'(x)
ODVOD EKSPONENTA:
(e¥)' = e*
(a*) =a*xInxa
ODVOD LOGORITMA:

1
(In*)' ==
x

ODVOD KOTNIH FUNKCLJ:
(sinx)’ = rosx

(cosx)' = —sinx
tgx)' = -
(tgx) cosix
ctgx)' = -
(ctgx) —5in°x

KOT MED KRIVULJAMA:
flx) = glx) flx) = glx)
ky = f'(x)ky = f'(x)
ky=g'(x)

kg —ky
9 = Tk, %k,
UPORABA ODVODA:
T(x1,31)
1 = flxy)
Tangenta:
ke =F"(x1)
y=k,®x+n
Normala:




